
Exercices de dérivation

ü Dériver les fonctions suivantes

1L fHxL = -2 x -1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x2

2L fHxL = Hx +3L2
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x -1

3L fHxL = 2 x +1
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ"###############x2 +5

4L fHxL = Hx -5L è!!!!!!!!!!!!!!!!
5 x -2

5L fHxL = 4
è!!!!
x - 5

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅè!!!!
x +4

6L fHxL = "###################2 x2 +4
3

7L fHxL = $%%%%%%%%%%%%%%%%%%%2 x +3
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
4 x -4

8L fHxL = 4 sinHxL
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
5 cosHxL+ 2 sinHxL

9L fHxL = sinik
jjj 3-4 xÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
5 x - 1

y
{
zzz

10L fHxL = -cosH5 xL - 2 sinH2 xL
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ü Solutions :

1L f'HxL = 2 Hx +1LÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x3

2L f'HxL = x
2 -2 x -15

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅHx -1L2

3L f'HxL = 5 sinH5 xL -4 cosH2 xL

4L f'HxL = 15 x -29
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2
è!!!!!!!!!!!!!!!!
5 x - 2

5L f'HxL = 21
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
2 Iè!!!!

x +4M2 è!!!!
x

6L f'HxL = 4 x
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
3 H2 x2 + 4L2ê3

7L f'HxL = -
5

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

4 Hx -1L2 $%%%%%%%%%%%%%%2 x+3ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ
x-1

8L f'HxL = 20
ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅH5 cosHxL +2 sinHxLL2

9L f'HxL = -
11 cosI 3-4 xÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅ

5 x-1
M

ÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅÅH1 -5 xL2

10L f'HxL = 5 sinH5 xL -4 cosH2 xL
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